
qm=;= of]hgfsf] gfd j*f g+=  cg'dflgt lalgof]lht 

ah]^ 

s]]lkmot

c_ of]hgf tyf ;Dkbf cGtu{tsf gu/:t/Lo 

qmdfut of]hgfx? -k'¤hLut cfGtl/s vr{_

s_ gu/:t/Lo of]hgfx?

1 Vjk c:ktfn ejg lgdf{)f 9 50,000,000.00    

2 a]vfn :jf:Yo ;]jf s]Gb| ejg lgdf{)f 10 3,000,000.00     

3 l%kf tf¤ -k'n_ kl/;/ ('éf %kfO{ tyf #f^ 

ddt{

7 2,500,000.00     

4 eQmk'/ gkf ejg cufl*sf] af^f]df ('éf %kfO{ 2 2,000,000.00     

5 t'drf] l:yt b'u'/] If]q ;+/If)f lgdf{)f 9 1,000,000.00     

6 t'drf] l:yt kfgL ^ofsL lgdf{)f 9 1,500,000.00     

7 sdnljgfos afn pBfg :t/f]GgtL 10 1,500,000.00     

8 t'drf] b'u'/] rf]vf Knflgédf ;fj{hlgs hUuf 

;+/If)f

9 1,500,000.00     

9 cfb/ lgs]tg ejg lgdf{)f 6 5,000,000.00     

10 t/sf/L ahf/sf] nflu k"jf{wf/ lgdf{)f 5 4,000,000.00     

11 ;'wfl/Psf] zjbfx u[x lgdf{)f 7 2,500,000.00     

13 uoMleGBf]b]lv cfbz{;Dd ;*ssf] k"j{tkm{ k]^L 

lgdf{)f

7 700,000.00      

14 uoMleGBf]b]lv cfbz{;Dd ;*ssf] klZrdtkm{ k]^L 

lgdf{)f

5 1,100,000.00     

15 kmf]xf]/d}nf k|zf]wg s]Gb|df k"jf{wf/ lgdf{)f 8 2,000,000.00     

16 k'/fgf] huftL af^f]df km'^kfy lgdf{)f tyf 

sfnf]kq]

8, 7 3,000,000.00     

hDdf 81,300,000.00    

v_ ;Dkbf ;+/If)f cGtu{tsf of]hgfx?

1 efHof kf]v/L s]Gb|df hn]Zj/ dxfb]j dlGb/ 

k'gMlgdf{)f

1 2,500,000.00     

2 OGb|fo)fL Bf]M%+] k'gMlgdf{)f 2 5,000,000.00     

3 xf*f %]+ k'gMlgdf{)f 4 5,000,000.00     

4 nIdLg/l;x+ dlGb/ k'gMlgdf{)f 4 10,000,000.00    

5 Ovfnf%L d& k'gMlgdf{)f 4 7,500,000.00     

hDdf 30,000,000.00    

hDdf /sd -s+v_ 111,300,000.00    

cf_ afx\o ;|f]tåf/f ;`rflnt÷;`rfng x'g] 

of]hgfx? -k'¤hLut vr{_

s_ ;+#Lo ;/sf/ -/fli^<o of]hgf cfof]u_

;dk'/s cg'bfg 

1 lzt e)*f/)f u[x ejg lgdf{)f 8 10,000,000.00    

eQmk'/ gu/kflnsfsf] qmdfut of]hgf tyf cf=j= 2079÷080 sf nflu k|:tfljt 

of]hgfx?sf] cg'dflgt ljlgof]lht ah]^



ljz]if cg'bfg 

1 Vjk OlGhlgol/é sn]hsf] Ans -aL_ ejg 

lgdf{)f

8 15,000,000.00    

2 xg'dGt] vf]nf ;'wf/ gkf 15,000,000.00    

v_ afudlt k|b]z 

;dk'/s cg'bfg 

1 af/fxL k'n lgdf{)f -clGtd r/)f_ 3 30,000,000.00     -qmdfut_

2 a]vfn se*{ xn lgdf{)f 10 30,000,000.00     -qmdfut_

ljif]z cg'bfg 

1 v¤rf kf]v/L :jf:Yo rf}sL ejg lgdf{)f 7 7,500,000.00     

u_ afudlt k|b]z ;zt{ cg'bfg 

1 cuf{lgs v]tL sfo{qmd gkf 1,500,000.00     

2 sdnljgfos vfg]kfgL Joj:yfkg 10 2,500,000.00     

3 lnjfnL vfg]kfgL Joj:yfkg 8 2,500,000.00     

4 sdnljgfos cfjf; If]qdf kLr 10 5,000,000.00     

5 lnjfnL cfjf; If]qdf kLr 8 5,000,000.00     

#_  ;+#Lo ;/sf/ ;zt{ cg'bfg 

1 gjLs/)fLo pmhf{ k|ljlw h*fg gkf 800,000.00      

2 ;fgf] Aof;Lb]lv :ofnfGrf;Ddsf] ;*s :t/f]GgtL 

sfo{

2 5,000,000.00     

3 Ozfg]Zj/ dxfb]j dlGb/ lgdf{)f tyf ;+/If)f 1 2,000,000.00     

4 /f]huf/ ;]jf s]Gb| ;'b\l(s/)f gkf 300,000.00      

5 Inj. Oxytocin e)*f/)fsf nflu ILR Refrigerator 

vl/b

gkf 400,000.00      

~_ ;*s af]*{ g]kfn    

1 u)f]z dlGb/b]lv Orf*f]n;Dd ('éf %kfO{ af^f] 

dd{t

1 1,150,000.00     

2 O^f%]¤ af^f]sf] %]pdf ('éf %kfO{ 2 1,150,000.00     

3 #nft]b]lv ofstL dfu{;Dd OG^/nlsé Ans 

%kfO{ af^f] dd{t

3 1,150,000.00     

4 #Tvfb]lv tfnfSj;Dd ('éf %kfO{ af^f] dd{t 4 1,150,000.00     

5 e]n'v]nb]lv 5 g+= j*f sfof{no cufl* x'¤b} 

^f}d(L;Ddsf] ('éf %kfO{ af^f] dd{t

5 1,150,000.00     

6 rf]%]¤b]lv %'df u)f]z dlGb/;Dd ('éf %kfO{ af^f] 

dd{t

6 1,150,000.00     

7 oftfaf^ Sjfsrf hfg] ('éf %kfO{ af^f] dd{t 7 1,150,000.00     

8 drf] e}/jb]lv dx]Zj/L k'n;Ddsf] O¤^f %kfO{ 

af^f] dd{t

8 1,150,000.00     

9 tfxfdnf uNnL O¤^f %kfO{ af^f] dd{t 9 1,150,000.00     

10 a]vfn kf^Lb]lv dxfnIdL dlGb/;Dd ('éf %kfO{ 

af^f] dd{t

10 1,150,000.00     

afx\o ;|f]t hDdf 144,000,000.00   



O_ of]hgfx? -k'¤hLut vr{sf cfGtl/s ;|f]]t_

1 b]sf]FldjfFO^fkfs] hUuf PsLs/)f cfof]hgf 

hDdf

2 200,000,000.00   

2 ;*s sfnf]kq] 1F10 10,000,000.00    

3 c/lgsf] ;ef ejg lgdf{)f 6 10,000,000.00    

4 dx]Zj/L : ]̂l*od lgdf{)f 7 10,000,000.00    

5 sdnljgfos ax'p@]ZoLo ejg lgdf{)f 10 10,000,000.00    

6 zlxb :d[lt v]n d}bfg lgdf{)f 2 10,000,000.00    

7 j*f:t/Lo of]hgfx? 1F10 50,000,000.00    

8 gu/:t/Lo of]hgf

s_ gk'v'sf] rf/}lt/sf] kvf{n dd{t 1 2,000,000.00     

v_ gf/dnf kmNrf k'gMlgdf{)f / zlxb :d[lt kmNrf 

dd{t

2 2,000,000.00     

u_ s[i)f dlGb/ k'gMlgdf{)f 3 2,000,000.00     

#_ %ub]u k'gMlgdf{)f 4 2,000,000.00     

~_ lkr' kmNrf k'gMlgdf{)f 5 2,000,000.00     

r_ %'df u)f]z Bf]M%]¤ k'gM lgdf{)f 6 2,000,000.00     

%_ xg'dfg #f^ l:yt nf]s]Zj/ dxfb]j k'gMlgdf{)f 

/ uf]Nd(L ulx^L dd{t

7 2,000,000.00     

h_ drf] e}/j dlGb/sf] blIf)ftkm{sf] kf^L k'gMlgdf{)f 8 2,000,000.00     

em_ ;s'nfgl:yt kflnkm kmNrf k'gMlgdf{)f 9 2,000,000.00     

`f_ a]vfn kf]v/Lsf] blIf)fklZrdtkm{sf] kf^L 

k'gMlgdf{)f

10 2,000,000.00     

hDdf 320,000,000.00   

O{_ ;Dkbf cGtu{tsf of]hgfx?           -

k'¤hLut vr{sf cfGtl/s >f]t_
1 yGy' b/af/ k'gMlgdf{)f 3 30,000,000.00    

2 ;f+:s[lts ;+u|fxno lgdf{)f 7 5,000,000.00     

3 sf]z]nL #/ lgdf{)f 2 5,000,000.00     

hDdf 40,000,000.00    

pm_ ljljw of]hgfx?

1 of]hgfx?sf] af¤sL e'QmfgL 20,000,000.00    

2 k/Dk/fut z}nLdf #/ lgdf{)f cg'bfg gkf 5,000,000.00     

3 vfg]kfgL cfof]hgfx? lgdf{)f tyf dd{t ;Def/ gkf 2,500,000.00     

4 vf]nf ;'wf/ gkf 2,500,000.00     

5 Vjk ^]lnlehg gkf 10,000,000.00    

6 klt{ hUuf ;+/If)f tyf l;dfs+g gkf 1,000,000.00     



7 df^f] k/LIf)f, k/fdz{ sfo{ tyf ;DefjAotf 

cWoog

gkf 1,000,000.00     

8 kflsé tyf tx/f lgdf{)f gkf 5,000,000.00     

                               

hDdf

47,000,000.00    

P_ dd{t sfo{ 12,500,000.00    

P]_ sfof{nosf] k'¤hLut vr{tkm{ M

1 kmlg{r/ gkf 2,000,000.00     

2 ;jf/L ;fwg gkf 8,000,000.00     

3 d]zlg/L cf}hf/ tyf pks/)f gkf 5,000,000.00     

4 z}lIfs ¥)f gkf 20,000,000.00    

5 o'jf pBdzLntf ¥)f gkf 10,000,000.00    

6 e}k/L cfpg]] k'¤hLut gkf 5,000,000.00     

7 vfg]kfgL z]o/ vl/b gkf 6,000,000.00     

8 hUuf vl/b gkf 5,000,000.00     

hDdf 61,000,000.00    

s'n hDdf 735,800,000.00   


